
N = 1789
1789 circles in a circle

radius =   0.022155501681
ratio  =  45.135515972830

density  = 0.878159729709
contacts = 2037

 E.SPECHT
23-APR-2014

N = 1790
1790 circles in a circle

radius =   0.022132503250
ratio  =  45.182417403061

density  = 0.876827383171
contacts = 3494

 E.SPECHT
22-APR-2014

N = 1791
1791 circles in a circle

radius =   0.022120892240
ratio  =  45.206133151000

density  = 0.876396967391
contacts = 3672
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19-APR-2014

N = 1792
1792 circles in a circle

radius =   0.022102850089
ratio  =  45.243034086379

density  = 0.875456479876
contacts = 3732

 E.SPECHT
20-APR-2014

N = 1793
1793 circles in a circle

radius =   0.022093423372
ratio  =  45.262338169157

density  = 0.875198005875
contacts = 3968
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20-APR-2014

N = 1794
1794 circles in a circle

radius =   0.022084340455
ratio  =  45.280953807927

density  = 0.874966259401
contacts = 4623

 E.SPECHT
20-APR-2014

N = 1795
1795 circles in a circle

radius =   0.022083417782
ratio  =  45.282845703164

density  = 0.875380826941
contacts = 3457

 E.SPECHT
21-APR-2014

N = 1796
1796 circles in a circle

radius =   0.022076494978
ratio  =  45.297045614278

density  = 0.875319448364
contacts = 4544

 E.SPECHT
21-APR-2014

N = 1797
1797 circles in a circle

radius =   0.022070784736
ratio  =  45.308765047195

density  = 0.875353811318
contacts = 4216

 E.SPECHT
22-APR-2014

N = 1798
1798 circles in a circle

radius =   0.022063905841
ratio  =  45.322891023330

density  = 0.875295061881
contacts = 3702

 E.SPECHT
22-APR-2014

N = 1799
1799 circles in a circle

radius =   0.022058470827
ratio  =  45.334058187696

density  = 0.875350467266
contacts = 4015

 E.SPECHT
22-APR-2014

N = 1800
1800 circles in a circle

radius =   0.022055194714
ratio  =  45.340792179366

density  = 0.875576904965
contacts = 4185

 E.SPECHT
23-APR-2014


